ACADEMY COLLEGE TUITION & FEES

Addendum to Catalog #29; 2019-2020 | Winter 2020 Quarter | Effective January 6, 2020

Tuition

Tuition for a quarter is based on the number of credit hours a student takes per quarter as documented below:

CREDIT HOURS PER QUARTER	CREDIT HOUR RATE
1-11	\$ 455.00
12 and up	\$ 365.00

Tuition is billed quarterly and payable in advance of the start of each quarter. If payment of tuition and fees has not been made, or other payment arrangements agreed upon, Academy College may remove the student from the course or courses that are not paid.

Academy College reserves the right to revise tuition. The catalog is the complete statement of all terms and conditions of a student's contract with Academy College.

AVIATION FLIGHT LAB FEES ARE NOT INCLUDED IN ACADEMIC COURSE TUITION

These fees are determined on an hourly basis for aircraft, flight instruction, and supplies, and are charged in addition to academic course tuition, fees, and textbooks. The current Aviation Flight Lab fees are listed on pages A-5 and A-6. Students enrolling in an Aviation Flight Lab must have the amount of the Aviation Flight Lab Fees on account at Thunderbird Aviation (Flying Cloud and Crystal locations) and/or Academy College, or combination of both before they will be allowed to register for that Aviation Flight Lab. If the student uses all of these funds before they complete the Aviation Flight Lab in that quarter, they will need to deposit an added amount equivalent to the estimated flight costs to complete the Aviation Flight Lab. The Aviation program department will determine these costs.

FAA MEDICAL EXAM

First Class Flight Physical is an additional expense.

AIRCRAFT DISPATCHER TUITION

The balance of tuition is due on or before the first day of class along with exam fees and books/supplies.

Resident Tuition	\$5840.00
Credit for Previous Experience Tuition	\$2920.00
Dispatcher Audit* FAA	\$2920.00
Knowledge Exam FAA	\$165.00 per exam**
Practical Exam	\$165.00 per exam**
Requested Texts	\$250.00 (estimated)

 $[^]st$ Audit option available for currently licensed dispatchers seeking currency.

FEES

APPLICATION FEE

A \$40.00 non-refundable application fee must accompany the completed Application form for Admission.

The application fee is waived for the following applicants:

- Military professionals
- Graduated and withdrawn students who are re-entering within one year from the last date of attendance
- Cancelled students who re-enter within one year of original payment date.

COURSE CHANGE FEE

A course change fee of \$50.00 will be charged to all courses deleted, dropped, and/or added after the first week of the quarter. The fee will not be charged for schedule changes requested by the college.

DIPLOMA FEE

There is a \$10.00 fee that must be paid at the time of request. All student balances must be paid in full.

EXAM FEE

Students will be charged the current Testing Center fee rates which are available upon request from Student Services.

LATE PAYMENT FEE

A \$25.00 late fee may be charged when tuition is paid after the first week of classes and on the first day of every month (30 days) thereafter until paid in full)/or on the first business day following the date due on an approved Payment Plan and every month (30 days) thereafter until paid in full.

LATE REGISTRATION FEE

A late fee of \$50.00 will be charged for enrolled students if registration is not received 15 days prior to the quarter start.

LOG BOOK AUDIT FEE

There is a \$100.00 fee charged to pilots planning to transfer in flight hours to meet FAR 61 requirements.

Fees (cont'd on next page)



^{**}All FAA exam fees are set by testing authorities and are subject to change.

ACADEMY COLLEGE TUITION & FEES

Addendum to Catalog #29; 2019-2020 | Winter 2020 Quarter | Effective January 6, 2020

FEES (CONT'D)

PILOT KIT FEE

This fee is charged for Private Pilot, Instrument, and Certified Flight Instructor Aviation Principles courses and includes the Jeppesen Pilot kits. For Private Pilot, a David Clark headset is also included.

REPEAT TRAINING

Tuition will be charged for courses repeated, for any reason, to complete the selected program. Tuition will be the current credit hour rate.

STUDENT ACTIVITY FEE

Students will be charged a \$280.00 one time student activity fee for field trips in their courses, graduation diploma, cap and gown, ceremony, and reception.

TECHNOLOGY FEE

A \$40.00 technology fee will be charged to the student's account on a quarterly basis. This fee will be used to finance improvements in information technology throughout Academy College ensuring continuous improvements in instructional delivery and student support services.

TEST OUT

There will be a \$75.00 per credit fee which must be paid in full at the time of the test out. Test Outs plus credit transfers cannot exceed 75% of a student's total program credit requirements. Any courses taken at Academy College affiliated institutions are exempt.

TESTING CENTER

Students will be charged the current testing fee rates which are available upon request from Student Services.

TEXTBOOKS AND SUPPLIES

These items may be purchased at the college and arrangements for payment will be made prior to (on student account) or at the time of purchase (cash, check, major credit card). Payment plans are available to qualified students with written approval by the Campus Director. The approximate cost of textbooks and supplies is \$250-\$500 per quarter.

TRANSCRIPT REQUEST

There is a \$20.00 fee that must be paid at the time of request. All student balances must be paid in full.

TUTORING FEE

There is a \$50.00 per hour fee for tutoring outside of posted lab hours.



ACADEMY COLLEGE FLIGHT LAB FEES*

Addendum to Catalog #29; 2019-2020 | Winter 2020 Quarter | Effective January 6, 2020

HOURLY RENTAL AND INSTRUCTION RATES

PA28 (Warrior) \$140.00	PA28 (Archer) \$150.00	PA28 (Arrow)	Flight & Ground Instruction - Advanced \$85.00
C172 \$165.00	PA44 (Seminole) \$275.00	Flight & Ground Instruction - Primary \$75.00	Flight & Ground Instruction - MultiEngine \$95.00

PRIVATE PILOT FLIGHT TRAINING 1

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	18.5	\$75.00	\$1,387.50
Aircraft Rental (C172)	18.5	\$165.00	\$3,052.50
SOLO FLIGHT			
Aircraft Rental (C172)	0	\$165.00	\$0.00
PRE AND POST INSTRUCTION			
Instruction	8	\$75.00	\$600.00
FULL TIME ACADEMIC			
TUITION & KIT FEES	n/a	n/a	\$823.00
		TOTAL	\$5,863.00

Substitution of Aircraft

When appropriate, the Piper Archer and Piper Warrior may be substituted for the C172 for both the Dual Flight and Solo Flight portions of the course.

PRIVATE PILOT FLIGHT TRAINING 2

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	15.5	\$75.00	\$1,162.50
Aircraft Rental (C172)	15.5	\$165.00	\$2,557.50
SOLO FLIGHT			
Aircraft Rental (C172)	11	\$165.00	\$1,815.00
PRE AND POST INSTRUCTION			
Instruction	11	\$75.00	\$825.00
CHECK RIDE			
Aircraft Rental (C172)	2	\$165.00	\$330.00
Examiner Fee	n/a	n/a	\$600.00
FULL TIME ACADEMIC			
TUITION & KIT FEES	n/a	n/a	\$365.00
		TOTAL	\$7,655.00

Substitution of Aircraft

When appropriate, the Piper Archer and Piper Warrior may be substituted for the C172 for both the Dual Flight and Solo Flight portions of the course.

INSTRUMENT FLIGHT TRAINING 1

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	18.5	\$85.00	\$1,572.50
Aircraft Rental (C172)	18.5	\$165.00	\$3,052.50
PRE AND POST INSTRUCTION			
Instruction	6	\$85.00	\$510.00
FULL TIME ACADEMIC			
TUITION & KIT FEES	n/a	n/a	\$1,188.00
		TOTAL	\$6,323.00

Substitution of Aircraft

When appropriate, the Piper Archer and Piper Warrior may be substituted for the C172 for the Dual Flight portion of the course.

INSTRUMENT FLIGHT TRAINING 2

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	26.5	\$85.00	\$2,252.50
Aircraft Rental (C172)	26.5	\$165.00	\$4,372.50
PRE AND POST INSTRUCTION			
Instruction	16	\$85.00	\$1,360.00
CHECK RIDE			
Aircraft Rental (C172)	1.5	\$165.00	\$247.50
Examiner Fee	n/a	n/a	\$720.00
FULL TIME ACADEMIC			
TUITION & KIT FEES	n/a	n/a	\$730.00
		TOTAL	\$9.682.50

Substitution of Aircraft

When appropriate, the Piper Archer and Piper Warrior may be substituted for the C172 for the Dual Flight portion of the course.

*Students may require additional hours to pass flight labs



ACADEMY COLLEGE FLIGHT LAB FEES*

Addendum to Catalog #29; 2019-2020 | Winter 2020 Quarter | Effective January 6, 2020

HOURLY RENTAL AND INSTRUCTION RATES

PA28 (Warrior) \$140.00	PA28 (Archer) \$150.00	PA28 (Arrow)	Flight & Ground Instruction - Advanced \$85.00
C172 \$165.00	PA44 (Seminole) \$275.00	Flight & Ground Instruction - Primary \$75.00	Flight & Ground Instruction - MultiEngine \$95.00

COMMERCIAL FLIGHT TRAINING 1

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	13	\$85.00	\$1,105.00
Aircraft Rental (Arrow)	13	\$180.00	\$2,340.00
SOLO FLIGHT			
Aircraft Rental (Arrow)	40	\$180.00	\$7,200.00
PRE AND POST INSTRUCTION			
Instruction	5	\$85.00	\$425.00
FULL TIME ACADEMIC			
TUITION & KIT FEES	n/a	n/a	\$730.00
		TOTAL	\$11,800.00

Substitution of Aircraft

When appropriate, the Piper Archer, Piper Warrior, and C172 may be substituted for the Piper Arrow for both the Dual Flight and Solo Flight portions of the course.

COMMERCIAL FLIGHT TRAINING 2

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	20	\$85.00	\$1,700.00
Aircraft Rental (Arrow)	20	\$180.00	\$3,600.00
SOLO FLIGHT			
Aircraft Rental (Arrow)	9	\$180.00	\$1,620.00
PRE AND POST INSTRUCTION			
Instruction	8	\$85.00	\$680.00
FULL TIME ACADEMIC			
TUITION & KIT FEES	n/a	n/a	\$730.00
		TOTAL	\$8,330.00

Substitution of Aircraft

When appropriate, the Piper Archer, Piper Warrior, and C172 may be substituted for the Piper Arrow for both the Dual Flight and Solo Flight portions of the course.

COMMERCIAL FLIGHT TRAINING 3

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	22	\$85.00	\$1,870.00
Aircraft Rental (Arrow)	22	\$180.00	\$3,960.00
SOLO FLIGHT			
Aircraft Rental (Arrow)	16	\$180.00	\$2,880.00
PRE AND POST INSTRUCTION			
Instruction	9	\$85.00	\$765.00
CHECK RIDE			
Aircraft Rental (Arrow)	1.5	\$180.00	\$270.00
Examiner Fee	n/a	n/a	\$600.00
FULL TIME ACADEMIC			
TUITION & KIT FEES	n/a	n/a	\$1,095.00
		TOTAL	\$11,440.00

Substitution of Aircraft

When appropriate, the Piper Archer, Piper Warrior, and C172 may be substituted for the Piper Arrow for both the Dual Flight and Solo Flight portions of the course.

Multi-engine Ground/Flight Training

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	15	\$95.00	\$1,425.00
Aircraft Rental (Seminole)	15	\$275.00	\$4,125.00
GROUND TRAINING			
Instruction	15	\$95.00	\$1,425.00
CHECK RIDE			
Aircraft Rental (Seminole)	1.5	\$275.00	\$412.50
Examiner Fee	n/a	n/a	\$720.00
FULL TIME ACADEMIC			
TUITION & KIT FEES	n/a	n/a	\$365.00
		TOTAL	\$8,472.50

Substitution of Aircraft

There is no substitution of aircraft for this course.

*Students may require additional hours to pass flight labs



ACADEMY COLLEGE FLIGHT LAB FEES*

Addendum to Catalog #29; 2019-2020 | Winter 2020 Quarter | Effective January 6, 2020

HOURLY RENTAL AND INSTRUCTION RATES

PA28 (Warrior) \$140.00	PA28 (Archer) \$150.00	PA28 (Arrow)	Flight & Ground Instruction - Advanced \$85.00
C172 \$165.00	PA44 (Seminole) \$275.00	Flight & Ground Instruction - Primary \$75.00	Flight & Ground Instruction - MultiEngine \$95.00

SINGLE ENGINE INSTRUCTION FLIGHT TRAINING

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	25	\$85.00	\$2,125.00
Aircraft Rental (Arrow)	25	\$180.00	\$4,500.00
GROUND TRAINING			
Instruction	40	\$85.00	\$3,400.00
CHECK RIDE			
Aircraft Rental (Arrow)	1.5	\$180.00	\$270.00
Examiner Fee	n/a	n/a	\$720.00
FULL TIME ACADEMIC			
TUITION & KIT FEES	n/a	n/a	\$730.00
		TOTAL	\$11,745.00

Substitution of Aircraft

When appropriate, the Piper Archer, Piper Warrior, and C172 may be substituted for the Piper Arrow for both the Dual Flight and Solo Flight portions of the course.

Multi-Engine Instructor Ground/Flight Training

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	15	\$95.00	\$1,425.00
Aircraft Rental (Seminole)	15	\$275.00	\$4,125.00
GROUND TRAINING			
Instruction	15	\$95.00	\$1,425.00
CHECK RIDE			
Aircraft Rental (Seminole)	1.5	\$275.00	\$412.50
Examiner Fee	n/a	n/a	\$720.00
FULL TIME ACADEMIC			
TUITION & KIT FEES	n/a	n/a	\$1,095.00
		TOTAL	\$9,202.50

Substitution of Aircraft

There is no substitution of aircraft for this course.

Instrument Instructor Ground/Flight Training

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	15	\$85.00	\$1,275.00
Aircraft Rental (C172)	15	\$165.00	\$2,475.00
GROUND TRAINING			
Instruction	15	\$85.00	\$1,275.00
CHECK RIDE			
Aircraft Rental (C172)	1.5	\$165.00	\$247.50
Examiner Fee	n/a	n/a	\$720.00
FULL TIME ACADEMIC			
TUITION & KIT FEES	n/a	n/a	\$530.00
		TOTAL	\$6,522.50

Substitution of Aircraft

When appropriate, the Piper Archer and Piper Warrior may be substituted for the C172 for the Dual Flight portion of the course.

ADDITIONAL REQUIRED BOOKS/SUPPLIES

Private Pilot Flight Training 1	\$148.00
Instrument Flight Training 1	\$53.00
Commercial Flight Training 1	\$177.00
Multi-Engine Ground/Flight Training	\$117.00
Single Engine Instructor Flight Training	\$52.00
Instrument Instructor Ground/Flight Training	\$17.00
Multi-Engine Instructor Ground/Flight Training	\$23.00

*Students may require additional hours to pass flight labs

